Model Questions
(Part-E : Environmental Studies 30 Questions)

1. Which of the following principles of
learning is followed in Environmental Studies?
(A) Global to local
(B) Abstract to concrete
(C) Unknown to known
(D) Known to unknown

2. In a classroom of an environmental studies
when a blind student learns the lessons along
with other normally abled students, then it is
called
(A) Formal Education
(B) Informal Education
(C) Inclusive Education
(D) Social Education
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4. A teacher of Environmental Studies grew
some pea plants in certain plots. A few weeks
later he showed the results to students and
expressed the results by students through graph
paper plotting. Through this experiment, what
the teacher tried to teach?

(A) How to make a hypothesis

(B) How to deduct the results of a problem (C)
How to measure

(D) How to calculate

5. To which of the following the word

‘Incineration’ is related?

(A) Dumping of wastes in open space (B)
Emission of gases from automobiles (C)
Recycling of wastes

(D) Management of solid wastes

6. World Environment day is celebrated
every year on—
(A) 1st June
(B) 5th June
(C) 7th June
(D) 21st June

7. Hepatitis B is a borne disease.
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3. Use of biodegradable materials in school
environment can be considered as
(A) Improvement of school environment (B)
Improvement of attitude towards environment
(C) Improvement of parent’s awareness (D)
Improvement of attitude of local community
towards environment

8. In which year the ‘Wildlife (Protection)
Act’ in India was implemented?
(A) 1970
(B) 1971
(C) 1972
(D) 1974
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